

1. *Phragmites australis* (Common Reed)

2. *Scirpus americanus*

3. *Spartina patens*

4. *Distichlis spicata*

5. *Eleocharis acicularis*

6. *Lythrum hyssopifolium* (Purple Loosestrife)

7. *Lythrum salicaria* (Purple Loosestrife)

8. *Lythrum hyssopifolium* (Purple Loosestrife)

9. *Lythrum hyssopifolium* (Purple Loosestrife)

10. *Lythrum hyssopifolium* (Purple Loosestrife)

11. *Lythrum hyssopifolium* (Purple Loosestrife)

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction
2. Background
3. Methodology
4. Results
5. Conclusion

1. Introduction

2. Background

3. Methodology

4. Results

5. Discussion

6. Conclusion

7. References

8. Appendix

1. $\frac{1}{x^2} = x^{-2}$
2. $\frac{d}{dx} x^{-2} = -2x^{-3}$
3. $= -2x^{-3}$
4. $= -\frac{2}{x^3}$

1. $\frac{1}{x^3} = x^{-3}$
2. $\frac{d}{dx} x^{-3} = -3x^{-4}$
3. $= -3x^{-4}$
4. $= -\frac{3}{x^4}$

1. $\frac{1}{x^4} = x^{-4}$
2. $\frac{d}{dx} x^{-4} = -4x^{-5}$
3. $= -4x^{-5}$
4. $= -\frac{4}{x^5}$

1. $\frac{1}{x^5} = x^{-5}$
2. $\frac{d}{dx} x^{-5} = -5x^{-6}$
3. $= -5x^{-6}$
4. $= -\frac{5}{x^6}$

1. $\frac{1}{x^6} = x^{-6}$
2. $\frac{d}{dx} x^{-6} = -6x^{-7}$
3. $= -6x^{-7}$
4. $= -\frac{6}{x^7}$

1. $\frac{1}{x^7} = x^{-7}$
2. $\frac{d}{dx} x^{-7} = -7x^{-8}$
3. $= -7x^{-8}$
4. $= -\frac{7}{x^8}$

1. $\frac{1}{x^8} = x^{-8}$
2. $\frac{d}{dx} x^{-8} = -8x^{-9}$
3. $= -8x^{-9}$
4. $= -\frac{8}{x^9}$

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion

1. Introduction 2. Background 3. Methodology 4. Results 5. Conclusion